11/17/21, 5:05 PM 609wdo 1

Ayestion 1

ot yet answered
Marked out of 1.00

03(0330)2A—B,033A=(3 2),32(4 0)
-1 5 3 -1

Select one:

O a (2 4)
5 —3

Ob. (2 —4)
3 5
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Question 2

Not yet answered
Marked out of 1.00

03mggm A’ + B, oy A = <3 _1),B:<

2 5

Select one:
O a (4 —2)

3 2
O b (4 3)

-2 5
O c (4 2)

2 3
O d (4 —2)

5 3
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Question 3

Not yet answered
Marked out of 1.00

03mggm AB, og A = ((2)

Select one:

O a (5 —4)
-3 -3

O b.

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=3892&cmid=1667
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Question 4

Not yet answered
Marked out of 1.00

6
08mblgbom gobhmmgodo: 5 ' =12
Select one:

Oa. b6
O b. -6
Oc 12
Od 8
Question 5

Not yet answered
Marked out of 1.00

1 0 -1
godmmgomgm:|3 1 —1
2 1 2
Select one:
Oa 2
O b. -3
Oc -2
Od 4
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Question 6

Not yet answered
Marked out of 1.00

2 -2
godmmgomam Aoy | 1 0 2
1 -5
Select one:
O a 11
O b. -11
Oc 10
O d. 12
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Question 7

Not yet answered
Marked out of 1.00

2 3
3 A, op A=
03M390 oY (_1 2>

Select one:

O a (2 —3)
-1 -2

O b. (2 3)
0 1

oc¢ (2 -3
(2

Od (/21
(3 2)
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Question 8

Not yet answered
Marked out of 1.00

2 3
03mggm AL g A =
-1 2
Select one:
a. 2 _3
O 7 7
1 2
7 7
b. 2 3
O 7
_4 2
7T 7
C. 1 _3
o 7 7
1 2
7 7
d. i _3
O 7 7
_1 2
7 7
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Question 9

Not yet answered
Marked out of 1.00

T1+ 2x9 — 223 =1
23mblgbom LobGHgdo 3Mdgmol Bgbom o 03m39m 1 + T2 + T3 { 1 + X9 = 3
xr + 2132 + r3 — 7

Select one:
Oa 7
Ob. 4
Oec 10
Od. 5
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Question 10

Not yet answered
Marked out of 1.00

00mbLgbom Foh® 03O gobhmemgdo
(1 2) — <3 5)
3 4 5 9
Select one:
O a -1 -1
(2 5)

Ob. (0 1)
2 -1
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Question 11

Not yet answered
Marked out of 1.00

k-b 6o 36033690 mMd0LM30L 996900 Pod030 ©dMbObLBO FME9IN obHhmmgdomo Lobitgdol:
{ x—4y=2©6

3z + ky =18
Select one:
O a. 12
O b. odEgomo.
Oc #4
O d. -12
Question 12

Not yet answered
Marked out of 1.00

03m39m A(-3;4) Bgmpomolb ox mgdmdol dodotmm Lodgh®moymo BgOHOMOL 3MMGMEObo¢mo Fodo.

Select one:
O a. -7
O b. -8
Oc 8
Od 7
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